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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What do you understand by Management Accounting?

2. What are financial statements?

3. What do you mean by trend percentages?

4. What is ratio analysis?

5. State any two difference between funds flow statement and cash flow statement.

6. Ram purchased and used 800 tons of a chemical at `40 per ton whereas the standard price fixed was 48 per ton. Calculate material price variance.

7. From the following calculate labour rate variance

Standard 
– 40 workers to work for 8 hours per day in a five-day week and get paid at `10 per hour.

Actual 
– 43 workers worked on an average 9 hours per day in the five-day week and were paid at `11 per hour on average.

8. From the following figures, calculate debtor’s turnover ratio
           `
Credit sales for the year  
12,000

Debtors  



  1000

Bills receivable  


  1000

9. Find out the provision for Income tax made during the financial year 2013 – 14. 
            `
Balance provision for Tax on 1-4-2013  
2,65,000.

Balance provision for Tax on 31-03-2014      2,90,000.

Tax paid during 2013-14 



3,00,000.

10. Ascertain the amount of profit or loss on sale of Machinery from the following:









           `
Cost of machinery sold 



  
1,00,000

Accumulated depreciation on sold machinery 
   30,000

Sale value of machinery 



 
   85,000.

11. Variable overheads for production of 10,000 units are ` 60,000. What will be the variable overheads for production of 
(a) 15000 units: & 
(b) 20,000 units?

12. Calculate p/v ratio from the following:

2012: 
Sales `6,00,000     profit `1,00,000

2013: 
Sales `10,00,000   profit `1,80,000
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13. State the objectives of analysis and interpretation of financial statements.
14. What is marginal costing? How does it differ from absorption costing?

15. What are the significant uses of ‘cash flow statement’?
16. Calculate funds from operations from the following profit and loss A/c

	Particulars
	`
	Particulars
	`

	To expenses paid
	3,00,000
	By Gross Profit
	4,50,000

	To Depreciation
	70,000
	By Gain on sale of land
	60,000

	To loss on sale of machine
	4,000
	
	

	To discount
	200
	
	

	To goodwill
	20,000
	
	

	To net profit
	1,15,800
	
	

	5,10,000
	
	5,10,000


17. A trader purchases goods both on cash as well as on credit terms. The following particulars are obtained from the books:

      `
Total purchases (gross)
    
2,00,000


Cash purchases


     
   20,000

Purchase returns


    
   34,000

Creditors at the end

   
   70,000

 Bills payable at the end
     
   40,000


i. Calculate creditors turnover ratio

ii. Calculate average payment period

18. You are required to prepare a production budget for the half year ending June 2000 from the following information:

	Product
	Budgeted sales quantity
	Actual stock on 

31-12-99
	Desired stock on

30-6-2000

	S

T
	Units

20,000

50,000
	Units

4,000

6,000
	Units

5,000

10,000


19. Calculate the material cost variances from the following data:

                          Standard 



Actual

                          Quantity 


         400 kgs



460 kgs 

                          Price 




`2 per kg



`1.5 per kg

                          Value




`800




`690
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. Explain the advantages and limitations of management accounting.
21. The balance sheets of VXL Limited as at December 31 of two years are given below:

                        Assets





2006


  2005

Cash balances 





         60,000                 50,000

Trade debtors





      1,00,000                 75,000 

Inventory 






      1,20,000
       1,40,000

Land 






         80,000              1,00,000

Plant and Machinery        



      2,50,000              2,00,000

Total 






      6,10,000              5,65,000


Liabilities and Capital





Trade creditors






40,000                 30,000

Debentures 






90,000
       1,50,000

Provision for depreciation on plant


80,000                 60,000

Equity share capital




      2,40,000              2,00,000

Retained earnings




      1,60,000
       1,25,000

Total 
   





      6,10,000
       5,65,000


Cash dividends of ` 2,000 have been paid during the year.

You are required to prepare a cash flow statement.

22. Prepare a balance sheet from the particulars furnished here under:

Stock velocity







: 6

Gross profit margin






: 20%

Capital turnover ratio 





         : 2

Fixed asset turnover ratio





: 4


Debt collection period


        : 2 months

Creditor’s payment period





: 73 days

Reserve and surplus 






: `20,000.




Gross profit was 






: `60,000







Excess of closing stock over opening stock was 

: `5,000

Difference in balance sheet represents bank balance.
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23. From the following data, prepare a flexible budget for production of 40,000 units and 75,000 units, distinctly showing variable cost and fixed cost as well as total cost. Also indicate element-wise cost per unit. Budgeted output is 1,00,000 units and budgeted cost per unit is as follows:

Direct material







95

Direct labour







50

Production overhead(variable)




40

Production overhead(fixed)





5

Administration overhead(fixed)




5

Selling overhead(10% fixed)




10

Distribution overhead(20% fixed)



15
                                                                  ————————
[P.T.O.]
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